OEVFYADOERENS H6 20
VEVIFELADT T,

A HIiX, Python Tk A N7 TJ ATT,

A LI I =T =2 A THES THIEN

201944 7] 23 H

. Excel ® 77 7% FIBILTWDE WD, Ml e Z AR E I EM
BNH D, RETHEHIDS LR, AR OWNFEIIRICL T, 0 H2ThIcED -,

& Spyder (Python 3.7) - m] X
TP REE) ERS) U-AQ TR OFAD) IvY-L0) FOVIZNP)  v-lM BFEM  ALTH)
- o (= =
DBEELES POHEBG HC=cEH B BX FP € 0nm e
15143 - D¥Pythonsrcitesthist py & X FRTHAI0-5- & X
[ reacborpy () souinputpy (] testZpy ] dosouteisipy ] testhistpy 0 40 g & B 5 & -3
9 import matplotlib.pyplot as plt AMEw = 94% = ~
10 import matplotlib.ticker as tick
1 x list 7 (1, 2, 3,7, 5, 9, 18]
12
13 X1 1list 7 (1, 2, 3,7, 5, 9, 18]
14 def getxlim(xmin,xmax,nmax) :
15 X2 1list 7 [1, 2, 3, 12, 5, 9, 18]
16 if xmin==2 and xmax==nmax:
17 return xmin, xmax x3 list 7 [1, 12, 23, 17, 25, 18, 10]
18 if xmin==g:
19 x4 1list 7 [1, 2, 3,7, 5, 9, 31]
e .
= Al ERTAAIO-5- | P AT2AI0-3—
23 [Python T4 — Il 8 x
24 xminlist.append(5@) .
25 smaxlist [9,19,29,39,49,68] 0 v iad -3
= -
27 tmpm = int(xmax/18)*16+3 1as1 2Ac2)
28 if abs(nmax-tmpm)<=1: 5 BRI 5 BE2(A2)
29 return 8,nmax
30 else: 4 a
31 return @, tmpm
32 else: . .
33 = : = ?
33 tmpmax = int((xmax-1)/18)*10+18
= 2 g
36 tmpmin = int((xmin-1)/18)*10+1
37 return tmpmin, tmpmasx ! !
38
] ° 1 2 3 4 5 & 7 -] o 10 1 ° 12 3 4 5 6 7 8 9 1017 1213741516 17 18 19 20 2]
40 def partgraphhist(x,a,b,c,label,maxn): Nig Nig
a1 startl = min(x) BE3As3) BBA(AsL)
42 endl = max(x) 5 5
a3 xmin,xmax = getXlim(startl,endl,maxn)
® 12 ax = fig.add subplot(a, b, €) a a
a5 ax.hist(x,align="mid’,bins=np.arange (xmin-1,xmax+1,1)+2.5, edgecolo
45 ax.set_title(label) P —a
47 ax.set_xlabel( 'NE") = [od
a3 ax.set_ylabel ('$8E(ED ') B g
a9 ax.set_xlim(xmin-1, xmax+l)
se ax.set_ylim(@,5) . .
51 loc = int( (xmax-xmin+2)/3@)+1
52 ax.xaxis.set_major_locator(tick.MultipleLocator(loc)) B R
53 ax.yaxis.set_major_locator(tick.MultipleLocator(1)) 2 4 5 & W 12 14 1 B 2 2 24 2 B 3N 2 4 6 B 1012 1416 18 20 22 24 26 25 30 32 34 3 | 4
54 ax.grid(which='major’,axis="y") ™ ik
55 BES(as5) BE6(AsE)
6 5 5
57x1=[1,2,3,7,5,9,18]
58 x2=[1,2,3,12,5,9,10] 4 a
,12,23,17,25,19,10]
12,3,7,5,9,31] 3 —3
1,2,3,7,5,9,30] g =
62 x6=[1,2,3,7,5,9,50] g &
63 fig = plt.figure(figsize=(15, 18))
4 fig.subplots_adjust(left=a.1, bottom=8.1, right=2.9, top=0.9,wspace=a.1 . .
65
56 partgraphhist(x1,3,2,1, "#E1(4s1)",58) ° o
67 partgraphhist(x2,3,2,2, ®/E 2)",50) 12 14 16 18 2 22 24 26 B 30 2 4 6 8 101214 16 18 20 22 24 26 28 30 32 34 35 38 4D 42 44 46 48 50
58 partgraphhist(x3,3,2,3, "#fE3(4s3) ", 50) Nig NfE
In [94]:
73 .
74 Fig.show()
75 vl >
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